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@R URWEBBUY/WIREMEGUD : sine, cosine oM ERSNIFE: U0 9UAISIM WYIAMIW (IBMEBBSINS l6laNIo

Q.4.26 D C

80° 40°

P 7 oau.o.

afl@omled ABCD 80) ai®yomoem. PB =7 equ.al. 9o ZPBD =40° w)o erem. LAPD = 80°
@RYWITY

a. almoomlem Al®] ag(®?
b. aimyeowilod MmI8o ag®?

(sin 80° =0.9848, cos 80° = 0.1736, tan 80° = 5.67)
ae03 : 4 avawo : 6 Mlmlg
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@R PRW®BBRUY/WIREME (D : MIWM MoeIalBAIW] E:IEMIM]
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B30} 9alSIVIEE OO alP)OM BIOANHBI0 GO0 alP)EHIAD GO0 B0 ME. AOQI0) Halg]
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MeHod : 2 avawo : 2 almlg
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@RUWEEBUY/WICEMEUD : aEMEBIM «13nOMIE8 Be3 Mmilmgnlod mlm’ NEOHIM HMISINICRWIe NOMECD @6}
anile3enalod aemulenian NIeWIeSs BINGRSF MAAIRIISS 6NIMNMo
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o

Q

aflmomlad O aiyomes@ane PQ emosyaio@mosm. PR =18 aau.al. PQ =12 eav.2’. oo
PS agy(? QUEODODOG @Yo agf)(®?
aMed03 : 3 avawo : 5 almls

@RU[OWo 10 - (03MIWge enilegmemlmaigo

@R RWEBBRUY/WIREMGUD : NIEWIAS al@lol

Q.10.18

A(2,4); B (8,4); C(10,12); D (4, 12) spa1 moel enili3)ees806m. @R&HU6BBUE AUOWHHIOHD, TV)ald
MVOAIY BSOS (AIGDIBHMHOS @RSITLNIMDIBS 210)3R)=R0 ABCD 0)S a@d@Ru0all(@o QI0a]
MEISHBIOS V2 lBTV0RIYHHUE af) QD). DD 2IMABER)R0 B0 TLOROMNGBH0 BRYOEMA) HMSIW]
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aMe03 : 5 avawo : 9 almls
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QUO:03, sTUAN)aIBBRUE, R21oZloilw)e snrleunsmimanoe, mudl®] allodensmas e’
BRWOWEERUE aldltemlalosm €aldBiEUaAIte MYO0IINIF BB af)lo ®oow]
ENMBS CaldBIEBU8 HEW)M® DUBRLIS)EMOM (WaAlafl§)ens. ~lo0RIMBElnE
@YU WEBBG)0 WIBEMBHB)0 af)DECMIBo afEBBOMOHWEN0 B)5101E8 D04y aan
al01CUIW]Ee)MEMINSIajo BRAIWINS AIBD2] HOMMBOMOIM Dald:OlE0)aN Ealdd)
6338)0 MAleSW)ME. EYUDWEBHIESW]o WIVEMEH:B)ESWIo MDM (AIEWINIVIW
DBBJo TOOIOW (a1 caigeEmBs)o @rola) Wldassmamleng con@os. WLNodmn
oG MMM (UG MAlo 830) AlOMEINACMMe METNWIEM  af)amn

wopsml@d ealsmoe smmlem qualaileniad.

aflallw @YU WEBBB)ESW]o DTG UMM (IBMEBRSIESW)o OAWIOMo D mely
WIdeM (IBEDMEIBSI03 By0o3Be. ElINTVoRI ®S)0 @RoUDETIMLA)e ()]
malje caIssale allallo Rodlmle mldzlole:8)e aalncnoomi milrbIImAalo
DUBEay)EMIdUd &gl 2)Mal al0la] ERHUNEBBRINS EVAUWLAI0 (AICWOU) TUMASR
BBlo AOMDEL @Y (HVWHFOS B0) MO0 aMBUIWMWIBIEN MSHEE M@,
DOMOHAIOY BOPaln]oS D)lyMWEMD (IIBOMMERSN3E0)S] @S] EAIdE:)CMINU3
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e 50600 WEMIglcelWio aledniW] GRUWEBUE afleiw]o)Emeals;m ®oOWIC
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Gala w

e 5c0 ARYININMG GO smlelwlae ¢aloByEBUd €108 ealedlod oudan

Slawlislotlel ki) Luars,mae);mcs%o_

e afen mlelnnoowle)ss &)Slewlanio PaMOHAPMIM Q)N MOCTenN33

6aloBY6EBUWS OUBHN|S)COMETBMIGM.



@RUWOWo 4
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Qns :4.1 -4.26

O BWEBUD/WIREM D : ediemlad sine, cosine of)M AlleIG 1D e 06M0 ERBENIMIBE MIa6)|d: 0D

e A
Q.4.1

almomlad 2B =90° esoem AB =10 sov.el, ZC =30° opwond B c
a) /4 0)9s @r8ID)?

b) AC, BC spaiwyes MI8o af)am?
MEeHId : 2 avadoe : 4 mlmlg

BRRWERUD/WIGEM 0D : ea6emlad sine, cosine o)1 QilRIG D €661 FRBEHIMNIBS Mo6))E 0D

Q.4.2
S R

alllmomlad PORS s0) qu2al@oadsm. PO = x Gowood

a) SO allend mIgo ag)a?

b) cosd5° @M@ e ).
medod : 2 qunwo : 3 alnlg

R R/ WIGEMEUD : e&6mIe sine, cosine Nilel:Ud GHI6M GRS ONIMISS o6& D

Q4.3 d

alllmomlad LB =90°, /4=x, AB =8, BC = 6 @goond
2 B C

a) sinx, COS X EDQI EMBNID ).
b) sin(90° — x) = cos x @YHEMAD @RI IOWYD). (B80S @REIAIVWo ) ? MEGMSEN)E:.
mieaod : 4 quaxe : 5 almlg




@1 U3 WEBUD/IBEM & LD : (Oiled: 26m2lmi] aleiul of QIR IW (o BMBEBUD alRlon6len3my
Q.44
80} TLAR)RMORIMElHEMINM 80) AUwwomlam mise 7 saudla’nole 86) esismlag @psol
40° @)o @REN. BROIOHG olORBAT E&HEMEHIEN) .

(sin 40°=0.6428, tan 40° = 0.84, cos 40° = 0.766)
' miea03 : 4 qvao : 8§ almlg

@R RWEERUY/WIREM & B : (MEE:I6MAIM ale@IN] 9] (o 19CWINE: [ IBMERUD al@loNElONFMS,
A

4.
D

7]

o

afl@momlad BD alyomomlsnad aoquaosm. BC = a. &)S00m U ODIOM @Yoo R @ywInd
a) allmomod /4 Das MLRow G0N aff®)?

b) s,mifi =2R gresma) ailedl alowymm). MleaEBs)es @pElnIoo af)imy? Madmlee) .
medod : 4 aunwo : § almls

BRURWEBUY/WIREM S : (Mee:26mAlmI] 8 IcIUTl o] RPAMIW (IEMEBW oIBlanElEHZM}.

Q.4.6

A

alllmomlad ‘O’ ayomeas@o LAOB =90°, 4B = g2 oqu.al. &soem LBOC = 30°

a) (Oedoemoe OA4AB @)as mmﬁjgamﬂﬁ?

b) aim@r)Ro OABC )OS alalB0l @EMENIE)d:.
aesod : 5 avawo : 8§ almls




@R RQWEBRUD/WIREMEUD : (@E6:06MATIWIANS MaNIWEOMIANS AW | IFNEBUD o l6lanElen3m}.

Q.4.7

®

afllmomlad ‘O ayomes m@aosm 4C =8 amu.2. L4 = 40° arpoood
a) (@e®06mo OBC @e)s aldal80l af)am)?
b) (@ledmosmo O4AB @S alda]30l af)ao)?

sin 80° = 0.9848, cos 80°=10.1736, tan 80° = 5.67

sin 40° = 0.643, cos 40° = 0.766, tan 40° = (.84
Me»Hod : 4 quawo : § mlmls

@ RWEBRUD/WIREMSUD : (e IemAMIWIHS MaNIWEMMIANS QYIAOTW (D BB o l6l06lengmg.

Q.4.8

=
vs)
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alllmomlad ‘O’ aye@mea(Bo LAOB =90°, ZBOC =40°. &)500m AB = 55 eqv.ol. Groood

a) 04, OC pawes MI8o afam?
by BC wes mI8o &6emME908)d:.

sin 40° = 0.643; cos 40° = 0.766, tan 40° = 0.84
MEHIB : 4 aunwo : § almlg

GBRHRWBRUD/WIEME D : (e semalal oflele:ud audeisim QoalmIw (a1@mo

Q.4.9

j/;

5 5 c

alllmomilad ZBAC =90°, 4D =6 equ.al, CD =9 paqu.a’. LACD = x apywimd
a) tanx &M afllelow®?
b) ZBAD w)ps @rsean

¢) BD @es mlzo afam?
mieaod : 3 quawo : 5 almlg




@13 RWERUD/WIRMSUD : |Oed:2mAMIWIAS aNIWETMINS WIAOIW (2 TN 0l@].0ElOn3Mm]

Q.4.10

0
L/
Q

2 @OWIO3 O G BRI UTHODINE] 210a1206m AQB, LAOB = 120°, LAOQ = 60°, &soem
PO =3 a2l anwocd aiomomlong @y agm?

mieaod : 3 avawo : 5 mlmls

GRBWEBRUY/WLIBEMESUD : |ES:IMATMWIANS MaNIWEDMIAS (o 19EWIUTE | BmERN i@lonElOnIm)

Q.4.11

§0) pEOMHM @R, MOWIEE MITEN 680 @5l 40° caT3eH6MI03 &:06M)MM). 2OOWIM)
qualacomoan) 20 2198 msmM@ImMetato 2O @r(Mo 80° CRGEBEH:06MIRIEM) &06m)IM .

80) oB>HE3U0allMo 0IDa] POOT]HM OWDo BHEMBNIBH]B>.
(sin 40°=0.643, cos 40°=0.766, tan 40°=0.84

sin 80°=10.9848, cos 80°=0.1736, tan 80° = 5.67)
aveaod : 4 aunwo : 8 almls

AR RWEBRUY/WIREMGD : |OleeIemAlTIWIHS MaNIWOMIOD (2 19EWINS: (11BN IBlnNIRa

Q.4.12

80) al)9epewled Ml@denm ~o0l, a0)eewled Ml 10 2193 apeeeiss 80) saclond

@oo 20° camdesoamilad &:0emam). aoy@leomss ¢=0eml 40° cacdesosmlensm sadlaa
@R HOEMAND). a0dlW]o, GROIWo, SAI0Je BEO CORIVILIM. B80) afHEBUWall®o NI0a]
Al e@eS @] &M @n0E)d:.

sin 40° = 0.6428, cos 40° = 0.7660, tan 40° = 0.8391

MUCHo3 : 4 aumo : 8§ MImIg

@R BQEBRUY/WIREMEUD : e smalmlw)mns MaNIWOMITD | IIEWINT G, (0B MaI@l0IR0

Q.4.13

UY@ITI® DVONBS OME HnglseBed mazlad 16 2193 @pacines. aelw easlsomlang ol
5108 Mo 2101w OB:5lsEBMG M&:UBR0MN. 45° caniesndamiane, aldlw ed:glsomend alal
sl@d mlanyo alellw a@:glsomln 2)&:0BeoNe 70° ¢2@EHNdaMIAN0 &06M)aN).

a) 80) afdc300alll®mo UODHR)D
b) ®a10lw e&ZSEWIOG DWW f)aD?
¢) aelw f&glsomlen pwoo A ?

(sin 70°=0.94, cos 70° = 0.342, tan 70°=2.747)
mieaod : 4 ouawo : § almlg




@R UBWERUD/WIBEM (Y : (led6malm] 8a18@In gl (o 196N G lUEM 0 1RlaNIRo

Q.4.14

SS@H00Wlenss ooalg aoDmilm) n@gled Modenan 80 )51 @selenss so) &a|od 20°
&19CH06MI@ £06MaM). HeLIGanDMIl@ mlmyo 100 2198 @p@eel Mlmdsn)am 80003 oeeIg

anDaulm) M)&HSlenss @)slow 45° camdessmIod &06mYam). aneslad

a) @mMlges alaloEBeg BRSIMLOMROSE] B0) aR®EEWall®o AOWEs)s
b) eseigeonmilom 9WenBAD?

) @o|@ SHEWIE MIMo af)l® @RGHOLIVWOEM ?

(tan 20° = 0.3420)
mieod : 4 qvawo : § Mmlg

@13 RWEBRUL/WIREME U : sine, cosine o) Qlle1: 0B BUDHEISIM RYAIMIW [ IFMEMLD

Q.4.15

alllmomled L4 = 40° BC =3 equ.a). @nwoad
a) (Wleaoemo ABC WHS aldla)y@m@BH00 HEMEHISE)d:.
(sin 40° = 0.64, cos 40°=0.766, tan 40° = (.84)

b) a0} Wlemrsmowleng 80} caosmlen a@egal 30° GrWIEE @®IHG aldlayem e Ao
30° g06mM) o) @OOWIBS QICOl)e ®)EII20WIGlE)0 e anGlm alowom). mlang)es

@&l a1ne TUABMO]EN) 6.
Meo3 : 4 qvnwe : 7 almls

@R RWERUY/WIREMG (D : sine, cosine of)] BRSAIE UG DUIAISIM BJIAMI (LIBNMEB olBlon@lenim]
A

Q.4.16

70° 407
B 8 vz, C

allmemlod (@lesoeme ABC @es alclaijemes(@eosm 0. BC = 8 aav.al 9o /B =70° @
ZC =40° @o @oymwomd

a) OOV 06T

b) 4B w)ens MmI8o &eMENIEN )

(sin 40° = 0.6428, cos 40° = 0.766, tan 40° = 0.84, sin 70° =0.9397, cos 70° = 0.342, tan 70° =2.747)
Mea0ad : 5 auamo : 7 almls








































